<26 2017 7
342300
285.8 kJ
2H2( g) + Oz( g) 2H20( 1)
. AH= -571.6 kJ * mol '
. D. HCl NaOH
: AH -57.3kJ *mol”"  H,80, Ca(OH),
; AH AH =2 x( =57.3 kJ * mol ")
AH 101kPa 1 mol
AH o kJ /mol o A
1 NH;( g)
( ) o 19.3 kJ
A.500%C 30 MPa 0.5mol N, 1.5 mol Tmol AH
H, NH, ( g) -38.6 k] *mol ;B
19.3 kJ ;
Nz( g) + 3H2( g) ‘72NH3( g) 1mol
AH= -38.6kJ * mol ™' AH
B. 890.3 kJ * mol ' ~57.3 kJ * mol ' D . 1 Co
CH,(g) +20,(g) ==CO,(g) +2H,0(¢g)
AH = -890.3 kJ * mol ' E( ) - E( ). E( ) -
C. 101 kPa 2 gH, E( ) >0 ;
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) — E( ) <0 (P,(s ) —P,0,—
° 4P( s ) AH = AH, +
2 4( —AH,) =( —2983.2 +4 x738.5) kj/mol =
) o -29.2 kJ/mol  P,(s ) =4P(s ) AH
@® = =29.2 kJ/mol.
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4 SF, S—F .
® ° 21 mol S( s)
1 Co 280 kJ 1 mol F—F.S—F
- 160 kJ.330 k. S(s) +3F,(g) —
SFe( 2) AH ) o
° A. 1180 kJ/mol C. =450 kJ/mol
' B. = 1220 kJ/mol D. +460 kJ/mol
( ) ( )
3 : “
S('s) +3F,(g) ==Sk,(¢g)
280 kJ +
° 160 kJ x3 =760 kJ 330 kJ
(])P4(S ) +502( g) P4010( S) ; %6 =1980 kJ 1220 kJ
AH, = ~2983.2 k] /mol AH = —1220 kJ/mol. C.
5 1
(2) P(s ) +Zoz(g) :ZP“O“’( s)
AH, = ~738.5 kJ/mol AH
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